The Derivative #3
The position (height) of a spaceship relative to the surface of a small planet which it is exploring is given by the function 
[image: image2.png]


, where x denotes radial distance (in km) from the planet’s gravitational pole.
(a) At what average rate is the height of the ship changing in the annulus between x = 4 and 
x = 6 km

(b) How fast is the ship’s height changing at a distance of 15km from the pole?
(c) Is the distance between the ship and the planet increasing or decreasing at this time?
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